Chapter 2 Questions
Methods and Parameters

01

02.

Consider the following method.

/** Precondition: p > 0
*/
public static int method0201 (int p)
{
int count = 1
for (int g =
{

1 g < p; att)

count += count;

}

return count;

}

What value is returned as a result of the call method0201 (n) 7

(A) n
{(B) 2n
(€) n’
o) 2°
(E) 2(n—1)

Consider the following method.

/%% Precondition:
*/f

public static int methed0202 (int p)
{

p >0

int count = 1;

for {int g = 1:; g < p;:
count += count;

return count;

gt+t)

}

What value is returned as a result of the call method0202 (5) 7

A) 5
B) 7
© 8
(D) 15
() 16
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03. Consider the following code segment and method.

for {int n = 1; n <= 10; ntt)
System.out.print(method0203(n} + "My

public static int method0203 (int n)

{
int templ = 0;
int temp2 = 1;
int temp3 = 1;
for (int k = 3; k <= n; kt++})
{
temp3 = templ + temp2;
templ = temp2;
temp2 = temp3;
}
return temp3;
}

What is printed as a result of executing the code segment?

(A) 55 34 13 8 5 3 2 1 1
)1 1 2 3 5 8 13 34 55
() 1 1 1 2 3 5 8 13 21 34
() 3 21 13 8 5 3 2 1 1 1
B) 0 1 1 2 3 5 8 13 21 34

04. Consider the following method.

public static int method0204 (int n}

{
int k1 = 2;
int k2 = 3;
int k3 = 4;
for {(int p = 1; p <= n; ptt}
{
k1l = kZ2;
k2 = k3;
k3 = k1 + k2Z;
}
return k3;
}

What value is returned as a result of the call method0204 (3) ?

(A) 23
(B) 35
(C) 47
(D) 62

e e B - . S o s
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035.

06.

Consider the following code segment and method.

int x = 5;
x = method0205(x):
system.out.println(x);

public static int methodd205 (int n)

{
for {int kX = n; k <= 10; kt++)
n += k;
return n;

}

‘What is printed as a result of executing the code segment?

(A) 50
(B) 40
(C) 31
(D) 23
(E) 16

Consider the following code segment and method.

int x = 10;

int y = 20}

swap {x,v);
System.out.println{x + " " + y);

public static void swap({int p, int g}
{

int t = p;
p = d:
q=t;

}

What is printed as a result of executing the code segment?

(A} 20 10
(B) 10 20
(C) 10 10
(D) 20 20
(E) 00
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07. Consider the following two methods.

/** Precondition: nl > 0
* n2 > 0
*/
public static int method0207a(int nl, int n2)
{
int temp = method0207b{nl,nZ);
return nl / temp * n2;

/**% Precondition: p > 0
* g > 0

*/
public static int method0207b(int p, int o)
{
int rem = 1;
int k = 0;
while (rem != 0)

{

rem = p % q;

if (rem == 0)
{

k = q;
}
else
{

P = d;

g = rem;
}

return k;

What value is returned as a result of the call method0207a (30, 45) 7

(A) 30
(B) 45
(©) 90
(D) 150
(B) 450
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08. Consider the following code segment and class.

Widget wl = new Widget (66};

Widget w2 = new Widget (77};
System.out.println(w2.getWidgets() + " " + wl.getWidgets()};
System.out.println(w2 + " " + wl);

class Widget
{

private int numWidgets;

public Widget {int nW)
{
nunWidgets = nW;

}

public int getWidgets ()
{

return numWidgets;

}

What is printed as a result of executing the code segment?
Note: Memory reference values will fluctuate with different executions.

(Ay 66 17

WidgetR2eB8l6 Widget@addbfl
(B) 77 &6

77 66
(C) 77 66

Widget@addbfl Widget@42e816
(D) 66 77

66 77
(E)y 0 0O

0 0
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09, Consider the following code segment and class.

Widget wl = new Widget (66} :

Widget w2 = new Widget (77):
System.out.println(wl.getWidgets() + "
System.out.println(wl + ™ " + w2);

class Widget
{

private int numWidgets;
public Widget (int numWidgets)
public int getWidgets ()

1

What is printed as a result of executing the code segment?

"+ w2.getWidgets ());

{ numWidgets = numWidgets; }
{ return numWidgets; }

Note: Memory reference values will fluctuate with different executions.

(A) 66 77
Widget@42¢816 Widget@addbfl

B) 66 77
66 77

(C)y 77 66
WidgetRaddbfl Widget@4ZeB816

(Dy 0 0O
Widgetfaddbfl Widget@42e816

(B) 0 0
0 0

10. Consider the following program.

public class DS0210

{
public static void main(String argsil)
public static void samba{int k)
public static void samba{double k)
public static void samba (char k)
public static void samba (String k)

}

What is printed as a result of executing the program?

(A) 65
(B) 65.0
©
D) 2

LT e

gsamba (65.0);}

System.out.println(k);
System,out.println{k};
System.out.println{k):
System.out.println{k):

_— e e e e

By uﬁf-Bup}icaie-‘111etliod-eﬁmpile-er-ref-ﬁ‘.essag:""' e e i

26 Chapter2 Methods and Parameters



J—

11.

12.

Consider the following method.

public static int method0211 {int n)

{
int temp = 1;
for (int k = n; k > 1; k--)
temp *= k;
return temp;
!

What value is returned as a result of the call method0211 (5} 7

(A) 2 -
(B) 6 -
(©) 24

(D) 120

(E) 720

Consider the following program.

public class PS0212

{ public static void main (String args([])
{ waltz {("Hellio™,100,Math,.PT);
;ublic static woid waltz (String n)
{ System.out.println(n);
éublic static void waltz (String p, int q)
{ System.cut.println{p + " " + q);:
;ublic static void waltz (String x, int y, double z}
{ System.out.println(x + " "+ y + " " + z);
éublic static void wal;z(String a, int b, double ¢, int d)
{ System.,out.printlnf{a + * "+ b+ * " + ¢+ ¥ "+ d);
} .
}

What is printed as a result of executing the program?

(A) Hello

(B) Hello 100

(C) Hello 100 3.141592653589783
(D) An Unknown symbel compile error message
(B} A Duplicate method compile error message

Chapter2  Methods and Parameters

27



Chapter 3 Questions
Boolean Algebra

pl., The Boolean expression
{A |} B) && A

is true

(A) inall cases.

(B) whenever Ais true.

(C) whenever B is true.

(C) whenever either A is true or Bis true.
(E) whenever both A is true and B is true.

02. The Boolean expression

(A && B) |] B

is true

(A) inall cases.

(B) whenever A is true.

(C) whenever B is true.

(C) whenever either A is true or Bis true.
(B) whenever both A is true and B is true.

03. The Boolean expression

(A && BY || (A && B)

is true

{A) inall cases.

(B) whenever A is true,

(C) whenever B is true.

(Cy whenever either & is true or Bis true.
(E) whenever both A is true and B is true.
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04. The Boolean expression
(a1l B Il A

is

(A) false whenever &is true.

(B) true whenever B is false.

(C) true whenever either A is true or B is true.
(D) true whenever both A is faise and Bis false.
(E) pever Lrue.

05. Which Boolean law is demonstrates by

(A || B) is equivalent to A && !B

(A) Distributive property
(B) Commutative propeity
(C) DeMorgan's Law
(D} Descartes' Law

(B} Euclid's Law

06. Which Boolean law is demonstrates by

I (A && B} is equivalent to A |] !B

(A) Distributive property
(B) Commutative property
(C) DeMorgan's Law
(D) Descartes' Law

(E) Euchid's Law

[ MU
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07. The Boolean expression
(& 118 It @Al B

evaluates to

(A) false inall cases,

(B) true wheneveronly A is true oronly B is true.
(C) true whenever Ais true or B is true.

(D) true whenever both A is true and B is true.

(E) true inall cases.

08. The Boolean expression
'(a |l B)
evaluates to
(A) false inall cases.
(B) true in all cases,
(C) true whenever only A is true or only B is true,

(D) true whenever Ais true or Bis true.
(E) true whenever both Ais false and B is false.

09. The Boolean expression
1{(a <B) I} (C>D))

is equivalent to which of the following expressions?

(A) (A < B) && (C > D)

(B) (& >=B) || {C <=D)
(C) (A > B) && (C < D)
D & >B) Il (C <D

() (& >= B) && (C <= D)

b e 4 4 e e pa s e
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10.

11.

12.

The Boolean expression
(& |l B) && (!A && !B)

evaluates to

{A) falsce inall cases.

{(B) true in all cases.

(C) true whenever only A is true or only B is true.
(D) true whenever A is true or B is true.

(E) true wheneverbothais false and Bis false,

Consider the following program segment.

int p = <some integer greater than zero>
int g = <some integer greaterlthén Zero>
while (p != 0 || q != 0)
{

i

> et

niftyMethod{);
}

For which values of p and g will the loop structure condition short-circuit?

(A) Whenever p does not equal 0

(B} Whenever g does not equal 0

(C) Only whenever both p equals 0 and q equals 0
(D) Only whenever p equals 0 or g equals 0

(E) The structure will never short-circuit.

The Boolean expression
(& || B) && ('A || !B)

evaluates to

(A) false inall cases.

(B) true inall cases.

(C) true whenever only A is true or only B is true,
(D) true wheneverAis true orBis true.

(E) true whenever both A is true and B is true,

46
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Chapter 4 Questions
Focus on OOP-1, Encapsulation

01

02.

Consider the following code segment and class.

Student kathy = new Student (};
System.out.println (kathy.gethAge()):

class Student
{

private int age;
pubklic int getAgel() { return age; }
}

‘What is printed as a result of executing the code segment?

(A) arandom number in the int range
(B) amemory reference value

) 0

(D} acompile error message

(E) anException error message

Consider the following code segment and class.

Student kathy = new Student(10);
System.cut.println{kathy.getAge(});

class Student
{

private int age;

public Student {(int a) { age = a; }

public int getage() { return age;
}

‘What is printed as a result of executing the code segment?

(A) 10

(B) a memory reference value

© o

(I} acompile error message

(E) an Exception error message

}

52
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03. Consider the following code segment and class.

gtudent kathy = new Student (10);
System.out.println(kathy.getage());

class Student

{
private int age;
public Student (int age) { age = age; }
public int getAge() { return age; }
}

What is printed as a result of executing the code segment?

A) 10

(B} a memory reference value

(Cy 0

(D) a compile error message

(E) an Exception error message

04. Consider the following code segment and class.

Student kathy = new Student (10}
System,out.println(kathy.getAge());

class Student

{
private int age;
public Student (int age) { this.age = age; }
public int getage () { return age; }

}

What is printed as a result of executing the code segment?

{A) 10

(B) amemory reference value

) o

(D) a compile error message

{E) anException error message
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05.

06.

Consider the following code segment and class.

Student kathy = new Student (10);
System.out.println{kathy.gethge ()):

class Student
{

private int age;

public Student (int age)
{

this.age = age;

1

public int getAge()
{

int age;

return age;

}

What is printed as a result of executing the code segment?

(A) 10

(B) amemory reference value

C o

(D) a compile error message

(E) an Exception error message

Consider the following code segment and class.

Student kathy = new Student {):;
System.cut.println (kathy.age);

class Student
{

int age;

public Student ()
{
age = 10;
1
1

What is wrong with this program?

(A) It does not compile, because age cannot be accessed directly.

(B) The intent of encapsulation is violated, because age can be accessed directly.

{C) The constructor has no parameter.
(DY...There is no.value.assigned fo.the age instance variable.......

(E) There is nothing wrong with the program.
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Consider the following code segment and class.

Bank tom = new Bank(500.0);
tom.makeDeposit (300.0);
tom.makeDeposit{175.0);
tom.makeWithdrawal (1000.0);
tom.makeDeposit (100.0);
System.out.println(tom.getBalance ());

class Bank

{

private double balance;

public Bank (double amount)
{

balance = amount;

}

public double getBalance ()
{

return balance;

1

public veid makeDeposit (double amount)

{

balance += amount;

}

public void makeWithdrawal (double amount)

{
if {amcunt > balance)
balance -= 35.0;
else
balance -= amount;
}

What is printed as a result of executing the code segment?

(A) 40.0
(B) 75.0
(C) 1040.0
(D) ~40.0
(E) -75.0
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08.

Consider the following code segment and class.

Bank tom = new Bank({5(0.0);
Bank sue = new Bank({500.0);
sue.makeDeposit (225.0) ;
tom.makeWithdrawal (100.0);

System,out.println(tom.getBalance{) + "

class Bank

{

private double balance;

public Bank(doukle amount)

{
}

this.balance

amcunt;

public double getBalance ()

{
}

public void makeDeposit (double amcunt)

{
}

return this.balance;

this.balance += amount;

" + sue.getBalance(}):

public vold makeWithdrawal {double amount)

{
}

What is printed as a result of executing the code segment?

(A) 625.
(B) 400.
(C) 725.
(D) 400.
B 725.

this.balance -= amount;

o O O OO

625,
T75.
400.
400.
725.

o O C OO
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09.

Consider the following code segment and class.

Bank tom = new Bank(500.0);
Bank sue = tom;
sue.makelDeposit {225.0);
tom.makeWithdrawal (100.0) ;

System,out.println{tom.getBalance() + " " + sue.getBalance()};

class Bank

{

private double balance;

public Bank (double amount)
{

balance = amount;

}

public double getBalance ()
{

return balance;

}

public void makeDeposit (double amount)
{
balance += amount;

}

public void makeWithdrawal (double amount)

{

balance —-= amount;

}

What is printed as a result of executing the code segment?

A)
(B)
©)
@)
(E)

625.0 625.0
400.0 725.0
725.0  400.0
400.0 400.0
725.0 7125.0
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10.

Consider the following code segment and class.

Bank tom new Bank(500.0);

Bank sue = new Bank({tom):;

sue.makeDeposit (225.0) ;

tom.makeWithdrawal (100.0);

System.out.println(tom.getBalance () + " " + gue.getBalance()):

class Bank

{

private double balance;

public Bank(double amount)

{
balance = amount;

}

public Bank({(Bank obj)
{

balance = obj.balance;

}

public double getBalance ()
{

return balance;
}

public void makeDepesit (deuble amount)
{

balance += amount;

}

public void makeWithdrawal (double amount)
{

balance —= amount;

}

What is printed as a result of executing the code segment?

(A) 625.0 625.0
(B) 400.0 725.0
(C) 725.0 400.0
(D) 400.0 400.0
(E) 725.0 725.0
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11. Consider the following code segment and class.

Game game = new Game({};

game.play();
System.out.println(game.getScore()};

class Game

{

private int score;

public veid play()

{
score = (int) (Math.random() * 10000);

}
public int getScore()
{
return score;
}

‘What is printed by the code segment?

(A) 0

(B) acompile error message

{C) an TllegalCastingException emor message
(D) an integer value x, suchthat 0 <= x < 10000
(E) an integer value x, suchthat 0 < x <= 10000
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12. Consider the following code segment and class.

Game gamel = new Game{5);
gamel.play();
System.out.println{gamel.getScore());
Game game? = new Game();

game? .play{);
System.out.println(game2.getScore()};

class Game

{
private int score;
private int level;

public Game (int lev)
{

score = 0;

level = lev;

}

public void play()

{
score = (int) {(Math.randcm() * 10000);
score = score / level;

}

public int getScore()
{

return score;

}

What is printed as a result of executing the code segment?

Ay 0

{B) acompile error message

{(C} an IllegalCastingException error message
(D) aninteger value x, suchthat 0 <= x < 10000

(E} an integer value x, such that 0 < x <= 10000
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Chapter 6 Questions

Static One-Dimensional Arrays

0l

02.

Cousider the following method,
/** Precondition: n >= 2
*/
public static int method0601 (int n)
{
int[] temp = new int(n];
temp[0] = 4;
templ[l] = 7;
for {int k = 2; k < n;
temp{k] = temp[k-1]
return temp(nl];

k+4)
+ templ[k-2];

}

What value is returned by the call method0601 (8)?
(A) 47

(B) 76

© 123
D) 199

(E} No value is returned due to an ArrayIndexOutOfBoundsException error

Consider the following method.

/** Precondition:
*/
public static wvoid method0602 {(int[] list)
{
int max = list.length-1;
for {int k = 0; k < max; k++}
if (list[k] < list[k+1])
{
int temp = list{k]:;
list [kl = list([k+1]:;
list(k+1] = temp;

i

list is a non-empty array.

Which of the following correctly decribes the result of calling method method0602?

{A) The smallest number is located in List [max].
{B) The smallest number is located in List [max-~11].
(C) The largest number is located in List [max].

{D) The largest number is located in 1ist [max-1].

AE)...The elements in.the 1ist array are reversed...

Chapter 8

Static One-Dimensional Arrays
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/ 03. Consider the following incomplete getMean method.

J*x
* Precondition: list is a non-empty array.
* Postcondition: getMean returns the mean of the list array values.
*/
public static double getMean (int[] list)
{
/* missing code */

1
Which of the following implementations of /* missing code */ will make method gétMean work as intended?

Tmplementation I

double temp = 0.0;

for {(int k = 0; k < list.length; k++}
tenp += list[k];

return {temp / list.length):;

Implementation 1k

int temp = 0;

for {int k¥ = 0; k < list.length; k++)
temp += listl[k];

return (temp / list.length):;

Pl

Implementation II1

int temp = 0;

for {int k = 0; k < list.length; k++)
temp += list[k]:

return {(double) temp / list.length};

(A) lonly
(B) Ilonly
{(C) IIIonly
(D) TandIi
(E) TandIl

o
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04,

05.

Consider the following method.

/** Precondition: list is a non-empty array.

*/
public static void method0604 {(int[] list)
{
for {int p = 0; p < list.length; p++)
{
int max = list.length - 1;
int temp = list[pl;
list[p]l = listimax-p]l;
list[max-p] = temp;
}
}

Which of the following correctly decribes the result of calling method06047?

(A) The elements in the 1ist array are in random order.
(B) The list array is sorted in descending order.

(C) The 1ist array is sorted in ascending order.

(D) The elements in the 1.1ist array are in reverse order.
(E) The elements in the 1ist array appear unchanged.

Consider the following method.

/** Precondition: list is a non-empty array.

*/
public static void methed0605 (int[] list)
{
for {int p = 0; p < list.length/2; p++)
{
int max = list.length - 1;
int temp = list[pl:
list[p] = list[max-pl;
list[max-pl = temp;
}
1

Which of the following correctly describes the result of calling method 06057

(A) The elements in the 1ist array are in random order.
(B) The 1ist array is sorted in descending order.

(C) The 1ist array is sorted in ascending order.

(D) The elements in the 1ist array are in reverse order.
(E) The elements in the 1ist array appear unchanged.

Chapter 6  Static One-Dimensional Arrays
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06.

Consider the following code segment.

int{] list = {5,10,15,20,25,20,15,10,5};
int max = list.length-1;
for (int k = max; k > 0; k--)
list]k} = list[k] / list[max];
for (int k = 0; k < list.length; k++)
System.out.print (list(k] + " ")

What will be printed as a result of executing the code segment?

(A) 5 10 15 20 25 20 15 10 1
@ 1 2 3 4 5 4 3 2 1
(C) 5 10 15 20 25 20 15 10 1
@1 1 1 1 1 1 1 1 1
B 5 5 5 5 5 5 5 5 5

07. Consider the following code segment.
int[] list = {2,4,8,16,32,64,128,256};
for {int k = 1; k < list.length ; k++)
list [kl = list[k] / list[k-1]:
for {(int k = 0; k < list.length; k++)
System.out.print{list[k] + " "):
‘What will be printed as a result of executing the code segment?
(A1 1 1 1 1 1 1 1
(B) 2 4 8 16 32 64 128 256
(© 1 2 4 8 16 32 64 128
2 2 2 2 2 2 2 2
E) 2 2 4 4 8 8 16 16
82 Chapter6 Static One-Dimensional Arrays
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08.

09.

Consider the following code segment,

int([] listl = {2,4,8,16,32,64,128,256};

int[] list2 listl;

int max = listl.length - 1;

for {int k = 0; k < listl.length ; k++)
list2([k] = listlmax-k];

for {irt k = 0; k < listl.length; k++)
System.out.print{listl[k] + " ");

It

What will be printed as a result of executing the code segment?

(A) 256 128 64 32 32 64 128 256
(B) 256 128 64 32 16 8 4 2

(C) 256 256 256 256 256 256 256 256
@2 2 2 2 2 2 2 2

(E) 4 8 16 32 64 128 256 512

Consider the following code segment and method.

int[] list = {56,23,78,54,11,95,60,17,64};
list = mystery(list);
for (int item: list)

System.out.print{item + " ");

/** Precondition: x is a non-empty array.
*/
public static int[] mystery(int[] x}
{
int([] temp = new int[x.length];
int g = temp.length ~ 1;
for (int p = 0; p < x.length; p++)
{
temp{gl = x[pl:
g7
1

return temp;

What will be printed as a result of executing the code segment?

{(Ad) 56 23 78 54 11 95 60 17 64
(B) 11 17 23 54 56 60 64 T8 95
(C) 95 78 64 60 56 54 23 17 11
D)y 64 17 60 95 11 54 78 23 5%
(B} AnArrayIndexOutOfBoundsException error message

Chapter 6
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10.

Consider the following code segment.

int[] list = {56,23,78,54,11,95,60,17,64};
for (int item: list)
{

item = 99;

System.out.print (item + ™ ")

}

What will be printed as a result of executing the code segment?

(A) 56 23 78 54 11 95 60 17 64
(B) 64 17 60 95 11 54 78 23 56
(C) 99 23 78 54 11 95 60 17 64
@) 56 23 78 54 11 95 66 17 99
(E) 99 99 99 9% 99 99 99 99 99

I1. Consider the following code segment.
int[] list = {56,23,78,54,11,95,60,17,64};
for {int item: list)
item = 89;
( for {int item: 1list)
System.out.print{item + " ");
What will be printed as a result of executing the code segment?
{(A) 56 23 78 54 11 95 .60 17 64
(B) 64 17 60 95 11 54 78 23 56
(C) 92 23 78 54 11 95 60 17 64
(D) 56 23 78 54 il 95 60 17 99
() 8% 9% 9% %9 99 @99 99 599 99
(
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2. Consider the following code segment and method.

int[} listl = {56,23,78,54,11,95,60,17,64};

int{} list2 = {32,44,87,11,90,56};

swap(listl,list2);

for (int iteml: listl)
System.out.print{iteml + " ');

System.out.println(};

for (int item2: list2)
System.out.print(item2 + " ");

public static void swap(int[] 11, int[] 12)
{

int([] 13 = 11;

131 = 12;

12 = 13;

What will be printed as a result of executing the code segment?

(A) 56 23 78 54 11 95 60 17 64
32 44 87 11 90 56

(B) 32 44 87 11 90 56
56 23 78 54 11 95 60 17 64

(C)y 56 23 78 54 11 95 60 17 64
56 23 78 54 11 95 60 17 64

(D) 32 44 87 11 90 56
32 44 87 11 90 56

(E) An ArrayIndexOutOfBoundsException error message
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